

BID2021-23 PEOSHA SAFETY TRAINING FOR A PERIOD OF ONE (1) YEAR FOR THE CITY OF TRENTON, DEPARTMENT OF WATER AND SEWER BID OPENING 4/9/2021 AT 11:00AM

BID2021-23 PEOSHA SAFETY TRAINING FOR A PERIOD OF ONE (1) YEAR FOR THE CITY OF TRENTON, DEPARTMENT OF WATER AND SEWER		
NUMBER OF RESPONDENTS:	2	
NAME OF BIDDER	CERTIFIED HEALTH AND SAFETY SERVICES	SKYLINE ENVIRONMENTAL, INC.
ADDRESS	1902 TAYLOR'S LANE, SUITE A	740 HIGHWAY 34, SUITE E
CITY, STATE, ZIP	CINNAMINSON, NJ 08077	MATAWAN, NJ 07747
CONTACT NAME	DAREN DIFONZO	JAMES N. GOTAY
TELEPHONE	856-829-4463	732-583-2500
FAX	856-786-3101	732-583-5200
E-MAIL	<a href="mailto:DAREN@CERTIFIEDHSS.C&lt;br/&gt;OM">DAREN@CERTIFIEDHSS.C OM</a>	<a href="mailto:JAMESGOTAY@SKYLINEENV.COM">JAMESGOTAY@SKYLINEENV.COM</a>
STATEMENT OF OWNERSHIP DISCLOSURE	INCLUDED	INCLUDED
AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE	INCLUDED	INCLUDED
MANDATORY EQUAL EXHIBIT A	INCLUDED	INCLUDED
ACKNOWLEDGMENT OF RECEIPT OF ADDENDA	N/A	N/A
NJ BUSINESS REGISTRATION CERTIFICATE OF CONTRACTOR	INCLUDED	INCLUDED
EIC FROM CONTRACTOR	CERT.# 64170 EXP. 02/15/2028	CERT.# 22979 EXP. 05/15/2025
DEBARMENT NOTICE	INCLUDED	INCLUDED
NON-COLLUSION AFFADAVIT	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED	INCLUDED
ETHIC COMPLAINT DISCLOSURE	INCLUDED	INCLUDED
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR
60-DAY EXTENSION COMPLIANCE	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES
W-9	INCLUDED	N/A
REFERENCES	INCLUDED	INCLUDED
EXCEPTIONS (IF ANY)	NONE	YES SEE ATTACHED
TOTAL BASE BID FOR ITEMS#1-11	\$29,080.00 (SEE ATTACHED BREAKDOWN OF PRICING)	\$79,100.00 (SEE ATTACHED BREAKDOWN OF PRICING)
FATAL FLAW	NONE	NONE

①

# Certified Health & Safety Services

## PROPOSAL BIDDER MUST COMPLETE

The undersigned proposes to furnish PEOSHA Safety Training for City of Trenton employees at the Trenton Water Works Distribution Complex on Cortland as needed in the classroom and in the field in the disciplines of: **THIS CONTRACT IS FOR A PERIOD OF ONE (1) YEAR.**

Item #	Description of PEOSHA Safety Class (10 - 15 employees per class unless otherwise noted)	Unit	Unit Price	Qty	Extended Price
1	PPE Training (1.5 hr. session)	Each	\$495	3	\$1485
2	Back Injury Training (2 hr session)	Each	\$495	3	\$1485
3	American Heart Association First Aide, AED and CPR Training – 12 person max. per class (8 hr. session)	Each	\$1285	4	\$5140
4	Traffic Control Safety Training (4 hr. session)	Each	\$2250	3	\$6750
5	Excavation Safety Training (2 hr. session)	Each	\$495	3	\$1485
6	Confined Space & Ladder Training (5.5 hr split session)	Each	\$1285	3	\$3855
7	Hoisting & Rigging Hands-on Training (4-5 hr. session)	Each	\$795	3	\$2385
8	Lockout/Tagout and Electrical Safety (2 hr session)	Each	\$495	3	\$1485
9	Safety and Defensive Driving involving Construction Vehicles (4 hr. session)	Each	\$1195	3	\$3855
10	Fork Lift & Pallet Training (4 hr session)	Each	\$985	1	\$985
11	Work Zone Safety Guidelines for Construction, Maintenance, & Utility Operations - Laminated Quick Reference Guides	Each	\$8.50	20	\$170
<b>Grand Total PEOSHA Safety Training</b>					<b>\$29,080</b>

Skyline  
Environmental  
Inc.

2

PROPOSAL  
BIDDER MUST COMPLETE

The undersigned proposes to furnish PEOSHA Safety Training for City of Trenton employees at the Trenton Water Works Distribution Complex on Cortland as needed in the classroom and in the field in the disciplines of: **THIS CONTRACT IS FOR A PERIOD OF ONE (1) YEAR.**

Item #	Description of PEOSHA Safety Class (10 - 15 employees per class unless otherwise noted)	Unit	Unit Price	Qty	Extended Price
1	PPE Training (1.5 hr. session)	Each	1,500	3	\$4,500
2	Back Injury Training (2 hr session)	Each	1,500	3	\$4,500
*3	American Heart Association First Aide, AED and CPR Training – 12 person max. per class (8 hr. session)	Each	1,500	4	\$4,500
4	Traffic Control Safety Training (4 hr. session)	Each	4,000	3	\$12,000
5	Excavation Safety Training (2 hr. session)	Each	1,500	3	\$4,500
6	Confined Space & Ladder Training (5.5 hr split session)	Each	3,500	3	\$10,500
7	Hoisting & Rigging Hands-on Training (4-5 hr. session)	Each	3,500	3	\$10,500
8	Lockout/Tagout and Electrical Safety (2 hr session)	Each	3,500	3	\$10,500
**9	Safety and Defensive Driving involving Construction Vehicles (4 hr. session)	Each	4,000	3	\$12,000
10	Fork Lift & Pallet Training (4 hr session)	Each	4,000	1	\$4,000
11	Work Zone Safety Guidelines for Construction, Maintenance, & Utility Operations - Laminated Quick Reference Guides	Each	5	20	\$ 100
<b>Grand Total PEOSHA Safety Training</b>					<b>\$79,100</b>

\*Skyline personnel are certified by the American Red Cross to conduct First Aid, AED and CPR Training. Skyline can contract with the American Heart Association to conduct the aforementioned training, if requested by the client.

\*\*Skyline is certified to provide State of New Jersey Motor Vehicle Commission Defensive Driving credit for its training session. Skyline is also certified by the New Jersey Water Environment Association to provide six (6) training contact hours (TCH). Please note that the Defensive Driving sessions must be six (6) hours long and the maximum number of attendees is limited to (25) employees per the certification agencies.

The New Jersey Water Environment Association and the New Jersey Department of Environmental Protection authorize Skyline to offer accredited Training Contact Hours (TCH) for our current safety and health training sessions. The additional fee for any training session participants who need to receive the (TCH) accreditation is \$25.00 per individual employee certificate requested for each training session attended.

**EXCEPTIONS  
(IF NONE, PLEASE NOTE)**

The New Jersey Water Environment Association and the New Jersey Department of Environmental Protection authorize Skyline to offer accredited Training Contact Hours (TCH) for our current safety and health training sessions. The additional fee for any training session participants who need to receive the TCH accreditation is \$25.00 per individual employee certificate requested for each training session attended.

\*Skyline personnel are certified by the American Red Cross to conduct First Aid, AED and CPR Training. Skyline can contract with the American Heart Association to conduct the aforementioned training, if requested by the client

**\*\* Skyline is certified to provide State of New Jersey Motor Vehicle Commission Defensive Driving credit for its training session. Skyline is also certified by the New Jersey Water Environment Association to provide six (6) training contact hours (TCH).**

Please note that the Defensive Driving sessions must be six (6) hours long and the maximum number of attendees is limited to(25) employees per the certification agencies.